void timer_init (uint8_t high, uint8_t low)

{
THI = high;
TL1 = low;
TMOD = B00010001; //' T1 MOD 16timer
TR1=1; // T1 start
ET1=1; // enable T1 interrupt
}

void timer_stop (void)
{
TR1 =0;
ET1=0;



for (; us !=0; us--);

void start_step (uint16_t cycles, uint16_t freq)
{

uint8_t high, low;

uint16_t high_speed, high_speed_num, i;

11 VS KR AN 7
high_speed = Oxffff - (uint16_t)(1000000L / (uint32_t)freq);
for (i=0;1<MAX_TABLE; i++) {

if (high_speed < table[i])

break;

}
if (i <= MIN_SPEED)

high_speed_num = 1;
else

high_speed_num =i - MIN_SPEED;

step_ground = GROUND;

I SR, LA 1/3-1/3-1/3 T5 %

roll_steps = cycles / GROUND;

speed_up_steps = roll_steps / 3;

if (speed_up_steps > high_speed_num)
speed_up_steps = high_speed_num;

speed_up_steps_B = speed_up_steps; /1 Ny is 0 5
roll_steps = cycles - speed_up_steps *2;  // ~J# Iz AL
step_add = MIN_SPEED; Il A

high = *(p_table + step_add * 2);
low = *(p_table + step_add * 2 + 1);

timer_init (high, low);

speed_up = 1; 11 g A e
out_enable = 1; I FrH AR
finished = 0; 11 SR &

while (!finished)
WMCON |= WDTRST_;
out_enable = 0; /] Ak

timer_stop ();



StepOut = 1;

/I THI = table[step_add * 2];

/I TL1 += table[step_add * 2 + 1];
THI = *(p_table + step_add * 2);
TL1 = *(p_table + step_add * 2 + 1);
delay_us (10);

StepOut = 0;
if (!speed_up) { /G St IR BL ¥E
if (speed_up_steps == 0) { Il A B
roll_steps--;
if (roll_steps == 0) { I EWREE, B NI
speed_up_steps = speed_up_steps_B;
step_ground = GROUND;
}
}
else { 1B
if (--step_ground == 0) {
step_add--;
if (--speed_up_steps == 0) { // FEAHH 45 R
finished = 1;
out_enable = 0;
}
else
step_ground = GROUND;
}
}
}
else {
if (--step_ground ==0) { /iR B
step_add++;
if (--speed_up_steps == 0) { /1 I B T 5e ke
speed_up = 0;
roll_steps--;
}
else
step_ground = GROUND;
}
}

void delay_us (uint8_t us)



44

Oxfe3b, Oxfed4, Oxfedd, Oxfe55, Oxfe5d, Oxfe65, Oxfe6e, Oxfe73, Oxfe7a, Oxfe81, Oxfe88, 1/
55

Oxfe8e, 0xfe94, Oxfe9a, Oxfe9f, Oxfeas, Oxfeaa, Oxfeaf, Oxfeb4, Oxfeb9, Oxfebe, Oxfec3, // 66
Oxfec7, Oxfecb, OxfedO, Oxfed4, Oxfed8, Oxfedc, Oxfedf, Oxfee3, Oxfee7, Oxfeea, Oxfeee, // 77
Oxfefl, Oxfef4, Oxfef7, Oxfefa, Oxfefd, 0xff00, 0xff03, Oxff06, 0xff09, OxffOc, OxffOe, /1 88
Oxff11, 0xff13, 0xff16, 0xff18, Oxff1b, Oxff1d, Oxff1f, 0xff22, 0xff24, Oxff26, Ox{f28, /199
0xff2a, Oxff2c, 0xff2e, Oxff30, 0xff32, 0xff34, 0xff36, Oxff37, Oxff39, Oxff3b, Oxff3d, /1110
0xff3e, 0xff40, 0xff42, 0xff43, 0xff45, Oxff46, Oxff48, Oxffda, Oxff4b, Oxffdc, Oxffde, /1121
Oxff4f, Oxff51, Oxff52, 0xff53, 0xff55, 0xff56, Oxff57, 0xff59, Oxff5a, OxffSb, OxffSc, /1132
0xff5d, 0xff5f, Oxff60, 0xff61, 0xff62, 0xff63, 0xffo4, 0xff6S, 0xff66, Oxff67, Ox{f68, /1 143
0xff69, 0xffoa, 0xfféb, Oxffoe, Oxffod, Oxffoe, Oxffof, Oxff70, Oxff71, Oxff72, 0xff73, /1154
0xff74, 0xff74, 0xff75, Oxff76, Oxff77, Oxff78, 0xff79, 0xft79, Oxff7a, Oxff7b, Oxft7c,  // 165
0xft7c, Oxff7d, Oxff7e, Oxff7f, Oxff7f, Oxff80, Oxff81, 0xff82, Oxff82, Oxff83, 0xff84, /1176
0xff84, 0xff85, 0xff86, 0xff86, 0xff87, 0xff88, 0xff88, 0xff89, 0xff89, Oxff8a, Oxff8b,  // 187
0xft8b, 0xff8c, Oxff8c, Oxff8d, Oxff8e, Oxff8e, Oxff8f, Oxff8f, 0xff90, Oxff90, Oxff91, /1198
0xff91, 0xff92, 0xff92, 0xff93, 0xff94, 0xff94, 0xff95, 0xff95, 0xff96, 0xff96, 0xff97,  // 209
0xff97, 0xff97, 0xff98, 0xff98, 0xff99, 0xff99, 0xff9a, Oxff9a, 0xff9b, 0xff9b, Oxff9c, /1220
0xff9c, 0xff9c, 0xff9d, 0xff9d, Oxff9e, Oxff9e, Oxffof, Oxffof, Oxffof, Oxffal, Oxffa0, /1231
Oxffal, Oxffal, Oxffal, Oxffa2, Oxffa2, Oxffa3, Oxffa3, Oxffa3, Oxffad, Oxffad, Oxffad, /1242
Oxffas, Oxffas, Oxffas, Oxffa6, Oxffa6, Oxffa7, Oxffa7, Oxffa7, Oxffa8, Oxffa8, Oxffag, /1253
0xffa9, Oxffa9, Oxffa9, Oxffaa, Oxffaa, Oxffaa, Oxffab, Oxffab, Oxffab, Oxffab, Oxffac, /1264
Oxffac, Oxffac, Oxffad, Oxffad, Oxffad, Oxffae, Oxffae, Oxffae, Oxffae, Oxffaf, Oxffaf, //275
Oxffaf, Oxffb0, 0xffb0, 0xftb0, Oxffb0, Oxffb1, Oxffbl, Oxffbl, Oxffb2, 0xffb2, Oxffb2, /1286
0xffb2, 0xffb3, Oxffb3, Oxffb3, Oxffb3, Oxffb4, Oxftb4, Oxftb4, Oxffb4, OxffbS, Oxffbs,  // 297
0xftbs, 0xffb5, Oxffb6, Oxffb6, 0xffb6, 0xffb6, 0xftb7, Oxftb7, Oxffb7, Oxffb7, Oxffb7,  // 308
0xffb8, 0xffb8, Oxffb8, Oxffb8, 0xffb9, 0xffb9, 0xffb9, Oxffb9, Oxffb9, Oxffba, Oxftba,  // 319
Oxffba, Oxffba, Oxffbb, Oxffbb, Oxffbb, Oxffbb, Oxffbb, Oxffbc, Oxffbc, Oxffbc, Oxffbc, /1330
Oxffbc, Oxffbd, Oxffbd, Oxffbd, Oxffbd, Oxftbd, Oxffbe, Oxffbe, Oxffbe, Oxffbe, Oxffbe, /1341
Oxftbe, Oxffbf, Oxffbf, Oxffbf, Oxffbf, Oxffbf, 0xffcO, OxffcO, OxffcO, OxffcO, OxffcO, // 352
0xffc0, Oxffcl, Oxffcl, Oxffcl, Oxffcl, Oxffcl, Oxffcl, Oxffc2, Oxffc2, Oxffc2, Oxffc2, /1363
Oxffc2, Oxffc2, Oxffc3, Oxffc3, Oxffc3, Oxffc3, Oxffc3, Oxffc3, Oxffcd, Oxffcd, Oxffcd, /1374
Oxffcd, Oxffc4, Oxffc4, Oxffcs, Oxffcs, OxffcS, OxffcS, OxffcS, OxffcS, OxffcS, Oxffco, /1 385
0xffc6, Oxffco, Oxffc6, Oxffco, Oxffco, Oxffc6, Oxffc7, Oxffc7, Oxffc7, Oxffc7, Oxffc7, /1 396
Oxffc7, Oxffc7, Oxffc8, Oxffc8, Oxffc8, Oxffc8, Oxffc8, Oxffc8, Oxffc8, 0Oxffc9, Oxffc9, /1 407
0xffc9, Oxffc9, Oxffc9, Oxffc9, Oxffc9, Oxffc9, Oxffca, Oxffca, Oxffca, Oxffca, Oxffca, // 418
Oxffca, Oxffca, Oxffca, Oxffcb, Oxffcb, Oxffcb, Oxffcb, Oxffcb, Oxffcb, Oxffcb, Oxffcb, /1 429
Oxffcc, Oxffce, Oxffcc, Oxffce, Oxffec, Oxffce, Oxffec, Oxffcc, Oxffce, Oxffed, Oxffed, // 440
Oxffcd, Oxffcd, Oxffcd, Oxffcd, Oxffcd, Oxffed, Oxffcd

¥
uint8_t code *p_table = (uint8_t code *)table;

void timer_int (void) interrupt 3 using 1



#include <atmel/at898252.h>
#include <intrins.h>
#include "config.h"

#include "hardware.h"

#define MAX_TABLE 446
#define GROUND 8
#define MIN_SPEED 4

void delay_us (uint8_t us);
void start_step (uint16_t cycles, uint16_t freq);
void timer_init (uint8_t high, uint8_t low);

void timer_stop (void);

#ifndef STEPADDR

#define STEPADDR  P170
#endif

sbit StepOut = STEPADDR;

uint8_t bdata status; I e VR S e e =]
sbit speed_up = status”0;
sbit out_enable = status”1;

sbit finished = status”2;

uint8_t step_ground; 11 G B W EL KA

uint16_t step_add; /4 ET R AR

uintl6_t speed_up_steps, I AT T A AR
speed_up_steps_B, // 4T VTSR E b 255
roll_steps; 11 TSk R

T T T

Il PRI =12MHz; T/ 5i%=12

I ZHBGEAE: VO =20; Frxi 1= 100; #7252 =2200 HRFLE = 3000 rpm

I Point0= 0;55 — 4T = 12,45 7 5= 100; £ /5 5%= 160

I HSHLEE B — JE 08 R ik 4=200; 42N Y (CTn rewrite) fME D = 8
T T T

uintl16_t code table[] = {

Oxec77, 0xf05f, Oxf2ef, Oxfdbe, 0xf61c, 0xf729, 0xf803, Oxf8b6, 0xf949, 0xf9c7, Oxfa34,
11

0xfa93, Oxfae6, 0xfb30, 0xfb72, Oxfbad, Oxfbe3, Oxfc12, Oxfc3e, Oxfc66, Oxfc8b, Oxfcac,
22

Oxfccc, Oxfce9, 0xfd04, Oxfd1d, 0xfd35, Oxfd4b, 0xfd60, Oxfd74, 0xfd87, 0xfd98, Oxfda9,
33

0xfdb8, Oxfdc7, OxfddS, Oxfde3, Oxfdf0, Oxfdfc, Oxfe08, Oxfel3, Oxfele, Oxfe28, Oxfe32,
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/"



